DALLAS COUNTY BID TABULATION		VENDOR #1		VENDOR #2	•	VENDOR #3	
BID NO. 2015-036-6490 : : : : : : : : : : : : : : : : : : :	000	C & D COURIERS, INC.		Guaranteed Express Inc.		K B SERVICE, INC.	
	0.0	Ken Harris	-	Jennifer Blakeney		Vicki Walton	
ANNUAL CONTRACT OF DELIVERY AND	0:0	2029 McKenzie Dr. #100		1720 Regal Row, Suite 15	0	3773 Cripple Creek Dr	
COURIER SERVICE	9:0	Carrollton, Texas 75006		Dallas, TX 75235	•	Dallas, Texas 75376	
: GOCKERADA CO	9:3	972.458-2342		214.631.8054		972.365-4669	
OPENING DATE: May 4, 2015	: ::	Fax: 972.458-2343		Fax: 214.631-8069		Fax: 800.458-5369	
CONTRACT PERIOD:	: : :	kharris@cdcouriers.com		iblakeney@gxcourier.com		kbser@switched.com	
BUYER: Ruthic Simpkins	1.0	www.cdcouriers.com		www.gxcourier.com		KBBCI @ SWITCHIOG. SOFII	
'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.'.	:::	www.cacouners.com		www.gxcouner.com			
Award: 12 months plus three extension options	: : :						
M/WBE STATUS		NCTRCA		NCTRCA		NCTRCA	
TAXPAYER STATUS		Dallas County Taxpayer		Other County Taxpayer		Dallas County Taxpayer	
BID NOTIFICATION		Dallas County Website		Letter from Purchasing		Emailed from Purchasing	
OTHER MINORITY CERTIFICATION		MBE BMMB64259Y0217		WBE 2005113323		HUB-1522394389300	
		HUB 1752470577300		HUB 1752018951900			
DEGGE TO THE TOTAL OF THE TOTAL		NMSDC -DL09387					
DESCRIPTION Est							
Day	/S	PERCOLA PENER FOR A WA					
Daily Delivery and Courier Services		RECOMMEND FOR AWA	ARD				
(Cost per round-trip and pick-up return service)							
Extension should be calculated as follows: Daily rate x 260 days							
1.1.	2.50		10500-	446=	0 < 10 0 =		2.000.00
	260	7.50	1,950.00	14.00	3,640.00	15.00	3,900.00
841 W. Irving Blvd., Irving, Texas 75060							
JP 4-2 and Constable 4A							
	260	7.50	1,950.00	14.00	3,640.00	15.00	3,900.00
10056 Marsh Lane, Dallas, Texas 75229							
JP 3-1 and Constable 3							
JP Collections & Truancy Court #2							
	260	7.50	1,950.00	14.00	3,640.00	15.00	3,900.00
1411 Beltline Road, Richardson, Texas 75080							
JP 3-2							
	260	7.50	1,950.00	14.00	3,640.00	16.00	4,160.00
140 N. Garland Ave., Garland, Texas 75040							
JP 2-1 and Constable 2 & Truancy Court #4							
	260	7.50	1,950.00	14.00	3,640.00	16.00	4,160.00
823 N. Galloway, Mesquite, Texas 75149							
JP 2-2							
	260	7.50	1,950.00	14.00	3,640.00	15.00	3,900.00
106 W. Church St., , Grand Prairie, Texas 75050							
JP 4-1 and Constable 4 & Truancy Court #5							
	260	7.50	1,950.00	14.00	3,640.00	12.00	3,120.00
107 Texas Street, Lancaster, Texas 75146							
JP 1-2							
			4.0				
	260	7.50	1,950.00	14.00	3,640.00	12.00	3,120.00
410 S. Beckley Avenue, Dallas, Texas 75203							
JP's 5-2 and Constable 5 & Truancy Court #3							
	2.50		10500-	446=	0 < 10 0 =	40 ==	0.100.00
	260	7.50	1,950.00	14.00	3,640.00	12.00	3,120.00
7201 S. Polk, Dallas, Texas 75232							
JP 1-1, and Constable 1 & Truancy Court #1							
Ito F D. II. G	2.00	= ==	10500-		0 < 10 0 =	40 ==	0.100.00
	260	7.50	1,950.00	14.00	3,640.00	12.00	3,120.00
3443 St. Francis, Dallas, Texas 75228							
JP 5-1							
DAIL V DATE OD AND TOTAL		\$75.0C		Ø140.00		Ø140.00	
DAILY RATE GRAND TOTAL		\$75.00		\$140.00		\$140.00	
TOTAL		ф	19,500.00		\$ 36,400.00		\$36,400.00
IOIAL		Bid shows \$19,500.00	17,500.00	Bid shows \$36,400.00	φ <i>3</i> υ,4υυ.υυ	Bid shows \$36,400.	φ .50,400.00
I	I	Στα 3110 W3 Ψ1 7,300.00		Σια snows ψ50,400.00		Σια διίονο φ30,400.	

DALLAS COUNTY BID TABULATION	VENDOR #1	VENDOR #2	VENDOR #3
BID NO. 2015-036-6490	C & D COURIERS, INC.	Guaranteed Express Inc.	K B SERVICE, INC.
	Ken Harris	Jennifer Blakeney	Vicki Walton
ANNUAL CONTRACT OF DELIVERY AND	2029 McKenzie Dr. #100	1720 Regal Row, Suite 150	3773 Cripple Creek Dr
COURIER SERVICE	Carrollton, Texas 75006	Dallas, TX 75235	Dallas, Texas 75376
COUNTERVICE	972.458-2342	214.631.8054	972.365-4669
OPENING DATE, May 4 2015			
OPENING DATE: May 4, 2015	Fax: 972.458-2343	Fax: 214.631-8069	Fax: 800.458-5369
CONTRACT PERIOD:	kharris@cdcouriers.com	iblakeney@gxcourier.com	kbser@switched.com
BUYER: Ruthie Simpkins	www.cdcouriers.com	www.gxcourier.com	
Award: 12 months plus three extension options			
M/WBE STATUS	NCTRCA	NCTRCA	NCTRCA
TAXPAYER STATUS	Dallas County Taxpayer	Other County Taxpayer	Dallas County Taxpayer
BID NOTIFICATION	Dallas County Website	Letter from Purchasing	Emailed from Purchasing
OTHER MINORITY CERTIFICATION	MBE BMMB64259Y0217	WBE 2005113323	HUB-1522394389300
	HUB 1752470577300	HUB 1752018951900	
	NMSDC -DL09387		
DESCRIPTION Est.			12.00
Daily cost to add new location/designation site	7.75	14.00	12.00
during the term of the contract			
Should your firm be awarded this contract, describe what (if any) portion of the	None	no recononce	None will be subcontracted out
bid requirements will be subcontracted out.	None	no response	None will be subcontracted out
Bidders are required to indicate whether they have the required products			
on hand at the time of the bid or whether they will be required to obtrain			
such upon award. Please indicate by checking the appropriate box:			
	v	v	
I/We do have the products in stock	X	X	X
I/We will be required to obtain the products upon award of bid.			Λ
Specity any additional comments/cost/etc. included with your bid			
proposal, if applicable:			
proposal, ii applicatio.			
*Any deviations to the Dallas County bid specifications may result in			
rejection of the Bidders Proposal if found unacceptable by Dallas			
County.			
County.			
Cooperative Purchasing: Should other Governmental Entities decide to			
participate in this contract, would you, the awarded Contractor agree			
that all terms, conditions, specifications, and pricing would apply to that			
entity?	No	Yes	Yes
Note: All purchases by Governmental Entities other than Dallas County will			
be billed directly to that Governmental Entity and paid by that			
Government Entity. Dallas County will not be responsible for other			
Governmental Entity's debt			
Specify Prompt/Early Payment Discount Terms (if any)	None	None	1% / 20 days
INFORMATION ON PROVISION OF HEALTH INSURANCE			
COVERAGE FOR EMPLOYEES			
Dallas County may consider the provision of health insurance			
coverage for employees in the bid evaluation process(see page 5,			
paragraph 5). Please complete the information below to assist in this			
evaluation.			
Does your company provide health insurance coverage to its employees	N.		
	No	Yes	No
If you company does provide health insurance coverage to its			
employees, does the company share in the cost a minimum of:			
95% for employee only coverage	no response	No	No
85% for employee + children coverage	no response	No	No
73% for employee + spouse	no response	No	No
71% for employee + family coverage	no response	No	No
		l	

DALLAS COUNTY BID TABULATION	VENDOR #1	VENDOR #2	VENDOR #3
BID NO. 2015-036-6490	C & D COURIERS, INC.	Guaranteed Express Inc.	K B SERVICE, INC.
	Ken Harris	Jennifer Blakeney	Vicki Walton
ANNUAL CONTRACT OF DELIVERY AND	2029 McKenzie Dr. #100	1720 Regal Row, Suite 150	3773 Cripple Creek Dr
COURIER SERVICE	Carrollton, Texas 75006	Dallas, TX 75235	Dallas, Texas 75376
COURTER SERVICE	972.458-2342	214.631.8054	972.365-4669
OPENING DATE: May 4, 2015	Fax: 972.458-2343		
CONTRACT PERIOD:		Fax: 214.631-8069	Fax: 800.458-5369
- 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	kharris@cdcouriers.com	iblakeney@gxcourier.com	kbser@switched.com
BUYER: Ruthie Simpkins	www.cdcouriers.com	www.gxcourier.com	
Award: 12 months plus three extension options			
M/WBE STATUS	NCTRCA	NCTRCA	NCTRCA
TAXPAYER STATUS	Dallas County Taxpayer	Other County Taxpayer	Dallas County Taxpayer
BID NOTIFICATION	Dallas County Website	Letter from Purchasing	Emailed from Purchasing
OTHER MINORITY CERTIFICATION	MBE BMMB64259Y0217	WBE 2005113323	HUB-1522394389300
	HUB 1752470577300	HUB 1752018951900	
	NMSDC -DL09387		
DESCRIPTION Est.			
If your company provides health insurance coverage to its employees, is			
the coverage comparable to the services provided by Dallas County as			
described in the attached summary plan description?(See Attachment A)	no response	Vec	N _o
	no response	Yes	No
If your company plans to utilize subcontractors in the fulfillment of this			1
bid, does each of the subcontractors provide health insurance coverage			1
to their employees that compares to Dallas County's Health insurance			
coverage and share in the cost?	Yes	No response	No
coverage and share in the cost.			
Note: Any vendor that conducts business with Dallas County,			
whether it is for goods and/or services, must maintain lawful			
worker's compensation/self insured employee coverage requirements			
and adequate liability limitations. SEE PAGE 3, Paragraph3.			
The attached documents shall be submitted with bid documents:			
1. Dallas County Insurance Rerquirement Affidavit			
2. Affidavit (if applicable)			
F C4-4'-4'1 C-4L' D O-1			
For Statistical Gathering Purposes Only:			
Please indicate to Dallas County whether the owner is a:			
Dallas County Taxpayer	x	x	X
[] Other County Tax Payer (Specify):	-		[**
[1 other county rax rayer (specify).			
Please indicate whether your company is certified through the			
North Central Texas Regional Certification Agency (NCTRCA).			
Yes No	Yes	Yes	Yes
If yes, please provide which agency and the applicable	HIID 1752470577200		
certification number:	HUB-1752470577300, NMSDC-DL09387,		
	NCTRCA-	HUB-1752018951900, WBE-	NCTRCA -PENDING FOR
	BMMB64259Y0217	W040045 & 78102200	RECERTIFICATION
Specify the name, telephone number and email address of the account			
representative who will be handling and managing this account: Note:	Ken Harris, 972-458-2342,	Jennifer Blakeney, 214-631-	
In the event that the account representative information is changed	kharris@cdcouriers.com,	8054,	
during the commencement or duration of this contract agreement, it	2029 McKanzic Dr. #100,	jblakeney@gxcourier.com,	Vicki Walton, 972-365-4669,
is the responsibility of the awarded bidder to notify Dallas County of	Carrollton, Texas 75006,	1720 Regal Row, Ste. 150,	kbser@switched.com, P.O.
any account representative and/or contact person changes.	Federal TAX ID.# 75- 2470577	Dallas, Texas 75235, Federal TAX ID.#75-2018951	BOX 764203, Dallas, Texas 764203
	24/93//	13A 19#13*2010731	704203
Please indicate the manner in which you were notified of this			
solicitation:			
[] Daily Commercial Record			
[] Dallas County Website	X	X	
[] Letter from Dallas County Purchasing			
[] Other: Specify			X-emailed from PD

DALLAS COUNTY BID TABULATION	VENDOR #1	VENDOR #2	VENDOR #3
BID NO. 2015-036-6490 ANNUAL CONTRACT OF DELIVERY AND COURIER SERVICE OPENING DATE: May 4, 2015 CONTRACT PERIOD:	C & D COURIERS, INC. Ken Harris 2029 McKenzie Dr. #100 Carrollton, Texas 75006 972.458-2342 Fax: 972.458-2343 kharris@cdcouriers.com	Guaranteed Express Inc. Jennifer Blakeney 1720 Regal Row, Suite 150 Dallas, TX 75235 214.631.8054 Fax: 214.631-8069 jblakeney@gxcourier.com	VENDOR #3 K B SERVICE, INC. Vicki Walton 3773 Cripple Creek Dr Dallas, Texas 75376 972.365-4669 Fax: 800.458-5369 kbser@switched.com
BUYER: Ruthic Simpkins Award: 12.months.plus three extension options	www.cdcouriers.com	www.gxcourier.com	
M/WBE STATUS TAXPAYER STATUS BID NOTIFICATION OTHER MINORITY CERTIFICATION DESCRIPTION Est.	NCTRCA Dallas County Taxpayer Dallas County Website MBE BMMB64259Y0217 HUB 1752470577300 NMSDC -DL09387	NCTRCA Other County Taxpayer Letter from Purchasing WBE 2005113323 HUB 1752018951900	NCTRCA Dallas County Taxpayer Emailed from Purchasing HUB-1522394389300
Specity your firm's Texas Secretary of State Filing Number, Jurisdiction and Formation Date:	0126117900 TEXAS FEB.18, 1993	0074198700, TEXAS 03/01/1985	No response
REFERENCES CONFLICT OF INTEREST QUESTIONNAIRE LETTERS OF ASSURANCE	YES YES YES	YES NO YES	NO NO YES